INDUSTRY

oNR, Pillow block unit

Housing

PAE200 relubricatable

H2

Furnizorul de langa tine

H1

0746

D1

18335 AN
j o
‘ El:

043 026

1

N L1 A
- UCPAE200
Main dimensions [mm]
d L L1 H H1 Al A J N E H2 s1 B B1 s
[mm]

12 | UCPAE201 65 18,0 33,3 9 19 32 50,8 M8 10,0 64 - - 31,0 12,7
USPAE201 63 17,5 30,2 9 18 30 47,0 M8 10,0 57 - - 220 6,0
ESPAE201 63 17,5 30,2 9 18 30 47,0 M8 10,0 57 - - 286 6,5
EXPAE201 65 18,0 33,3 9 19 32 50,8 M8 10,0 64 - - 43,5 17,0

15 |UCPAE202 65 18,0 33,3 9 19 32 50,8 M8 10,0 64 = = 31,0 12,7
USPAE202 63 17,5 30,2 9 18 30 47,0 M8 10,0 57 = = 220 6,0
ESPAE202 63 17,5 30,2 9 18 30 47,0 M8 10,0 57 = = 286 6,5
EXPAE202 65 18,0 33,3 9 19 32 50,8 M8 10,0 64 = = 43,5 17,0

17 |UCPAE203 65 18,0 33,3 9 19 32 50,8 M8 10,0 64 - - 31,0 12,7
USPAE203 63 17,5 30,2 9 18 30 47,0 M8 10,0 57 - - 220 6,0
ESPAE203 63 17,5 30,2 9 18 30 47,0 M8 10,0 57 - - 286 6,5
EXPAE203 65 18,0 33,3 9 19 32 50,8 M8 10,0 64 - - 43,5 17,0

20 |UCPAE204 65 18,0 33,3 9 19 32 50,8 M8 10,0 64 = = 31,0 12,7
USPAE204 65 18,0 33,3 9 19 32 50,8 M8 10,0 64 = = 250 7,0
ESPAE204 65 18,0 33,3 9 19 32 50,8 M8 10,0 64 = = 309 7,5
EXPAE204 65 18,0 33,3 9 19 32 50,8 M8 10,0 64 = = 43,5 17,0
UKPAE205H 70 21,0 365 10 21 36 50,8 M10 12,5 70 18,5 35,0 = =

25 |UCPAE205 70 21,0 36,5 10 21 36 50,8 M10 12,5 70 - - 34,0 143
USPAE205 70 21,0 365 10 21 36 50,8 M10 12,5 70 - - 270 75
ESPAE205 70 21,0 365 10 21 36 50,8 M10 12,5 70 - - 309 7,5
EXPAE205 70 21,0 365 10 21 36 50,8 M10 12,5 70 - - 443 17,4
UKPAE206H 98 22,0 429 11 25 38 762 M10 12,5 82 20,5 38,0 - -

30 |UCPAE206 98 22,0 429 11 25 38 762 M10 12,5 82 = = 38,1 15,9
USPAE206 98 22,0 429 11 25 38 762 M10 12,5 82 = = 30,0 8,0
ESPAE206 98 22,0 429 11 25 38 762 M10 12,5 82 = = 357 9,0
EXPAE206 98 22,0 429 11 25 38 762 M10 12,5 82 = = 48,3 18,2
UKPAE207H | 108 22,5 47,6 12 27 45 82,6 M10 12,5 93 22,5 43,0 = =

35 |UCPAE207 103 22,5 476 12 27 45 82,6 M10 12,5 93 - - 429 17,5
USPAE207 103 22,5 476 12 27 45 82,6 M10 12,5 93 - - 32,0 85
ESPAE207 103 22,5 476 12 27 45 82,6 M10 12,5 93 - - 38,9 95
EXPAE207 103 22,5 476 12 27 45 82,6 M10 12,5 93 - - 51,1 18,8
UKPAE208H | 116 27,0 49,2 13 30 47 88,9 Mi12 15,0 99 24,5 46,0 - -

40 |UCPAE208 116 27,0 492 13 30 47 88,9 Mi12 15,0 99 = = 49,2 19,0
USPAE208 116 27,0 49,2 183 30 47 88,9 Mi12 15,0 99 = = 34,0 9,0
ESPAE208 116 27,0 49,2 183 30 47 88,9 Mi12 15,0 99 = = 43,7 11,0
EXPAE208 116 27,0 492 183 30 47 88,9 Mi12 15,0 99 = = 56,3 21,4
UKPAE209H | 120 29,0 53,9 14 32 48 953 M12 15,0 107 26,0 50,0 = =

SNR Industry

—
56

www.bibiscom.ro



BIBIS COM S.R.L. Furnizorul de langa tine 0746 043,026

it
57
B1 B1 B1
#5.._ =T - st
N 1] | N )
iy
! - ! AN ~ ~ “
T E@ RIEL 5 s 3 | g
1 ‘ — 1 * 0
)
A A A A
USPAE200 ESPAE200 UKPAE200H UCPAE200CO(CCQC)
7% o
& $ /& & P
£ 690)* S0 /L & s
L > SEE/E /S S /T
2 £ SO0/ T O So/00/
5 S 2] /S DS =
S & JQL/ S8 /F5/ & /&
T Q O¥/0%/Q8% /i3 &/ & (%)
D1 D2 G Z Dz C Cor d
[kN] | [kN] | [kg] |[mm]
29,0 - R1/8" 446 54,0 PAE204 uc201 cO | CcC | 12,80 6,65| 0,5 12
24,6 - M6x1 40,6 46,0 PAE203 US201 CO | CC 9,55| 4,78| 0,3
- 28,6 M6x1 ol bl PAE203 ES201 e el 9,55| 4,78| 0,4
- 33,3 R1/8" ol el PAE204 EX201 e »* 112,80| 6,65| 0,6
29,0 - R1/8" 446 54,0 PAE204 uc202 cO | CcC | 12,80| 6,65| 0,5 15
24,6 - M6x1 40,6 46,0 PAE203 us202 CO | CC 9,55| 4,78| 0,3
- 28,6 M6x1 ool bl PAE203 ES202 o el 9,55| 4,78 0,4
- 588 R1/8" o o PAE204 EX202 e »* 112,80 6,65| 0,6
29,0 - R1/8" 446 54,0 PAE204 uUCc203 cO | CcC | 12,80 6,65| 04 17
24,6 - M6x1 40,6 46,0 PAE203 us203 CO | CC 9,55| 4,78| 0,4
- 28,6 M6x1 ol el PAE203 ES203 e el 9,55| 4,78| 0,4
- 33,3 R1/8" ol el PAE204 EX203 e »* 112,80| 6,65| 0,5
29,0 - R1/8" 446 54,0 PAE204 uc204 cO | CcC | 12,80| 6,65| 0,5 20
29,0 - R1/8" 446 54,0 PAE204 us204 cO | CcC | 12,80| 6,65| 04
- 588 R1/8" o o PAE204 ES204 o »* 112,80| 6,65| 04
- 588 R1/8" o o PAE204 EX204 e »* 112,80 6,65| 0,5
- 38,0 R1/8" 47,8 60,0 PAE205 | UK205 + H2305 | CO | CC | 14,00, 7,88 | 0,6
34,0 - R1/8" 47,8 60,0 PAE205 uUCc205 CcO | CC | 1400 7,88| 0,6 25
34,0 - R1/8" 47,8 60,0 PAE205 uUs205 CcO | CC | 1400 7,88| 0,6
- 38,1 R1/8" ol el PAE205 ES205 e »* 114,00 7,88| 0,6
- 38,1 R1/8" ol el PAE205 EX205 e »* 114,00 7,88| 0,6
- 45,0 R1/8" 52,8 70,0 PAE206 | UK206 + H2306 | CO | CC | 19,50 | 11,20 | 1,0
40,3 -  Ri/8" 52,8 70,0 | PAE206 UC206 CO | CC | 19,50 | 11,20 1,0 | 30
40,3 -  Ri/8" 52,8 70,0 | PAE206 US206 CO | CC | 19,50 | 11,20 | 0,9
- 445 R1/8" o b PAE206 ES206 o ¥ 119,50 | 11,20 | 1,0
- 445 R1/8" o b PAE206 EX206 o ** 119,50 | 11,20 | 1,1
- 52,0 R1/8" 57,4 80,0 PAE207 | UK207 + H2307 | CO | CC | 25,70 | 15,20 | 1,4
48,0 - R1/8" 57,4 80,0 PAE207 uca07 CO | CC | 25,70 | 15,20 | 1,3 35
48,0 - R1/8" 57,4 80,0 PAE207 us207 CO | CC | 25,70 | 15,20 | 1,3
- 55,6 R1/8" ol bl PAE207 ES207 e 125,701 15,20 1,3
- 55,6 R1/8" ol el PAE207 EX207 e 125,701 1520 1,4
- 58,0 R1/8" 66,8 88,0 PAE208 | UK208 + H2308 | CO | CC | 29,60 | 18,20 | 1,7
53,0 -  Ri/8" 66,8 88,0 |PAE208 UC208 CO | CC | 29,60 | 18,20 | 1,6 | 40
53,0 -  Ri/8" 66,8 88,0 |PAE208 US208 CO | CC | 29,60 | 18,20 | 1,6
- 60,3 Ri/8" =+ == | PAE208 ES208 = | = 12960 | 18,20 | 1,6
- 60,3 Ri/8" =+ = | PAE208 EX208 = | = 12960 | 18,20 | 1,8
- 650 RI1/8" 67,8 950 |PAE209 | UK209 + H2309 | CO | CC | 31,85 | 20,80 | 2,0

*

= Equipped with two open protective caps for passing shafts: Suffix CO see example on page 6
= Equipped with one open and one closed protective cap for shaft ends: Suffix CC see example on page 6
*** = Protective caps for bearing inserts with eccentric locking collar available on request.

**

www.bibiscom.ro



Furnizorul de langa tine 0746 043 026
oNR Pillow block unit

INDUSTRY

Housing PAE200 relubricatable

H2
D1

J

UCPAE200

Main dimensions [mm]

d L L1 H H1 A1 A J N E H2 s B B1 s

[mm]

45 |UCPAE209 |120 290 539 14 32 48 953 M12 150 107 - - 492 190
USPAE209 |120 290 539 14 32 48 953 M12 150 107 - - 412 102
ESPAE209 120 29,0 539 14 32 48 953 M12 150 107 - - 437 11,0
EXPAE209 120 29,0 53,9 14 32 48 953 M12 150 107 - - 56,3 214
UKPAE210H | 135 335 572 15 34 54 101,6 M16 20,0 115 27,5 550 - -

50 |[UCPAE210 |135 335 572 15 34 54 101,6 M16 20,0 115 - - 516 19,0
USPAE210 | 135 335 572 15 34 54 101,6 M16 20,0 115 - - 435 109
ESPAE210 135 335 572 15 34 54 101,6 M16 20,0 115 - - 437 11,0
EXPAE210 135 335 572 15 34 54 101,6 M16 20,0 115 - - 62,7 246
UKPAE211H | 150 320 640 16 35 60 118,0 M16 20,0 125 29,0 59,0 - -

55 |UCPAE211 150 32,0 640 16 35 60 118,0 M16 20,0 125 - - 556 222
USPAE211 150 32,0 640 16 35 60 118,0 M16 20,0 125 - - 453 118
ESPAE211 150 32,0 640 16 35 60 118,0 M16 20,0 125 - - 484 120
EXPAE211 150 32,0 640 16 35 60 1180 M16 20,0 125 - - 713 277
UKPAE212H | 150 320 699 16 42 60 118,0 M16 20,0 140 31,0 620 - -

60 |[UCPAE212 |150 320 699 16 42 60 118,0 M16 20,0 140 - - 651 254
USPAE212 | 150 320 699 16 42 60 118,0 M16 20,0 140 - - 537 149
ESPAE212 150 32,0 699 16 42 60 118,0 M16 20,0 140 - - 493 120
EXPAE212 150 32,0 69,9 16 42 60 1180 M16 20,0 140 - - 77,7 309

SNR Industry

—
58

www.bibiscom.ro



BIBIS COM S.R.L. Furnizorul de langa tine 0746 043,026
it
59
B1 B1 B1
450—— —— 24— s1
i N 1 :
{5 (B -
i — H ‘(\1 o~ i o~ i N
] E@ BERE 5 I | g
E— ;i — '////gz.‘.,’://////‘m AN I i
(222
A A A A \_JA
USPAE200 ESPAE200 EXPAE200 UKPAE200H UCPAE200CO(CC)
4 *
S 5 /9, /L o} IS
S N LLR_RE/ ¢ & &
S QOJ Q(D- S &/ & ~ *~ [e}
2 N S/ 90/ ¢ .09 K &
& $ LSS/ SE/ TS & /T
53 Q Os/0%/Q8/ 58 & /&
D1 D2 G Z Dz c e, d
[kN] | [kN] | [kg] |[mm]
572 -  R1/8" 67,8 950 |PAE209 UC209 CO | CC [31,85]2080| 1,9 | 45
572 -  RI1/8" 67,8 950 PAE209 US209 CO | CC |31,85| 20,80 1,9
- 635 R1/8" ™ ** | PAE209 ES209 = | =+ 131,85 | 20,80 1,9
- 635 R1/8" ™ ** | PAE209 EX209 =+ |+ 13185 | 20,80| 2,1
- 700 R1/8" 746 100,0 |PAE210 | UK210+ H2310 | CO | CC | 35,10 | 23,20| 2,6
61,8 -  RI1/8" 74,6 100,0 | PAE210 UC210 CO | CC [3510 | 23,20] 25 | 50
61,8 -  RI1/8" 74,6 100,0 | PAE210 US210 CO | CC [ 3510 | 23,20 2,4
- 699 R1/8" ™ ** |PAE210 ES210 = | ** 13510 | 2320| 2,5
- 699 R1/8" ™ ** |PAE210 EX210 = | ** 13510 | 2320| 2,7
- 750 R1/8" 752 110,0 | PAE211 | UK211+ H2311 | CO | CC | 43,55 | 29,20 | 3,3
690 -  R1/8" 752 110,0 | PAE211 uc211 CO | CC 4355 | 29,20| 3,2 | 55
690 -  RI/8" 752 110,0 | PAE211 US211 CO | CC 43,55 | 29,20 3,2
- 762 RiB" | PAE211 ES211 = | 143,55 | 29,20 3,0
- 762 R1B" | PAE211 EX211 »+ |+ 143565 | 2920| 3,5
- 80,0 R1/8" 87,8 120,0 |[PAE212 | UK212 + H2312 | CO | CC | 52,50 | 32,80| 4,0
749 -  R1/8" 87,8 120,0 | PAE212 uc212 CO | CC [ 52,50 | 32,80| 40 | 60
749 -  R1/8" 87,8 120,0 | PAE212 Us212 CO | CC | 52,50 | 32,80 3,8
- 842 R1/B8" ™ ™ |PAE212 ES212 = |+ 5250 | 32,80| 3,7
- 842 Ri/B" ™ |PAE212 EX212 = | "~ 52550 | 32,80| 4,4

*

*** = Protective caps for bearing inserts with eccentric locking collar available on request.

www.bibiscom.ro

= Equipped with two open protective caps for passing shafts: Suffix CO see example on page 6
** = Equipped with one open and one closed protective cap for shaft ends: Suffix CC see example on page 6




	UnEncrypted_Pag56
	UnEncrypted_Pag57
	UnEncrypted_Pag58
	UnEncrypted_Pag59



